Algebra 2 Regents Review Packet # w

Polynomials & Expressions
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Exponents & Radicals
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Express (21‘*@5 = y) as a trinomial in simplest form.
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Simplify each so your answer has only positive (fractional) exponents.

12 T e ¢ I ol
a. (3;;.-.) | b. V’? V—8x ?\1273 . \
3.t s T (
C/’ \l \%x )_j. § - =
! v -2 2] 1
. o i [ ~e
A\ X =K N oS

Factoring

Factor the expression x* + 6x° =7 completely.
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Real vs. Complex

To determine the value of (2 + )2, Lily performs the following operations:
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Lily made an error. Identify and explain Lily’s error. Then correctly solve the problem.
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Functions
Which function has a greater average rate of change on [-2, 4]?
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m{}fﬁ =2+ I, find 2(x) if () = 2[/x0)* - 1.
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Linear & Quadratic Functions

Solve the following system of equations by elimination:
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Polynomial Functions

Consider the graph of the polynomial function P(x) = 2x*® — 4x? 4 3x — 1 given below.

Use the graph to find a real zero of P.
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Confirm that the zero is correct by evaluating the function P algebraically at that value.
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Using this zero, find a quadratic factor of P.
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Find algebraically the zeros for p(x) = 4 x®-4x-4, Then, on the set of axes below, sketch the graph of y = p(x}.
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